Con3|der the followmg statements in

relation to the Chief Justice of India

(CJ1) being recognised as the “Master

of the Roster™ )

(1) It is a tenet of judicial discipline in
India and "a principle of Justice
delivery system. ‘

(2) Itis a rule framed by the Supreme
Court to conduct its business.

Which of the statements given above v

is/are correct?

(a) 1 only

(b) 2 only

(c) Bothtand 2
(d) Neither 1 nor 2

Which of the following are governed
under the conventions as established
in the practice of Parliament of India?

(1) The three' regular.sessions of the o

Parliament

(2) The first session of the Parliament
every yedr shall begin with a joint
address of both the Houses of
Parliament by the President.

(3) The introdiiction and the passage
of a No-Confidence Motion in the
Lok Sabha.

(4) One-third of the members of the

- Rajya Sabha shall retire once in
two years.

Select the correct answer using the

code given below:’

(a) 1 only

(b) 1 and 2 only

(c) 1,3 and 4 only

(d) 2, 3 and 4 only

Consider the following statements:

(1) The purpose of the fundamental
nghts is, to impose fetters on the
State and establish a limited
government. -

(2) India is a Union of States and not
“a federation.

- Which of the statements given above

is/are correct?

(a) 1 only
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(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor2

Recently the state of West Bengal has

changed its name to Bangla. In this

context -consider the following

statements: * ,

(1) A Bill giving effect to change the
name of any State shall only be
introduced in the Rajya Sabha.

(2) A prior recommendation of the
President is required for the
introduction of the Bill.

(3) The Parliament is bound to act on
the views expressed on that Bill by
the State legislature.

Which of the statements given above

is/are correct?

- (a) 1and 2 anly

(b) 2only .
(c) 1and 3only
(d) 3 only

With reference to the ‘Economic

Advisory Council to Prime Minister

(EAC-PM)’, sometimes seen in the

news, consider the following

statements: '

(1) It is a constitutional body
constituted to give economic
advice to the Government of India.

(2) With the resignation of the Prime

~ Minister the EAC-PM also needs
to resign.

(3) The Economic Survey which is

. presented . every ‘year - in the
Parliament is prepared by the
EAC-PM.

* Which of the statements given above'

is/are correct?
(a) 1and 2 only
(b) 2 only

(c) 2and 3 only’
(d) 3 only
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